110,000 # ¥ NEHEEX N\ATLXRE?2

o o o o o}
S < e 3 3
AN
13
1 1
- 2 3 4
i ;
H 6
L;E THEKXB
N R &
5.8
510 — A =510 i
H =
A3T.2 = B A
B s BFEER
= @18.71 K #¥ &
18.7 g 2 =
) Lod] %8 B %
Iy Ee|mes
Oy BREE Y
® o D BREmES
EE3mbLOEs
== IR 07
——————— 21, bmAROER
—— = %’
coo oo BROOER
T B % &
-52.0 — -52.0 — o E
————— O—TTrE
— B~ L
- R e
e X B R
o WK ER
—e— —  BHR - HROR
————— BIRR - SEemnsR
***** X #® R
f A 0
P ya) =
H g Fau
CIN & OB /\ I:H % B?D
+ FURAES
X & ”
P whk - BER
X RFE o BT
v H OB #Z
@ H OFE B
L T B
1.27¢ X 4 #® el HEET - T
-53.0 — -53.0 N 2 E
& g BERGR B
O ﬁﬁ%ﬁzmmw
5 zomos®
X HAHEES
NEREE - BT
g SR 17
@ YR - (FEE
— B B
= =) #
T a &
1 2 =
L £ = ®
2 ir %
2 B OF ™
e 2 B I =
o 72 E %
i e prd
O g 7
gos Té - &
~ W $#0-@®0
-54.0 — -54.0 iy B B B
N wHE BB
© X
. 2 - B B
oo EREZD
------------ B oE R
T H
v bl
JL Bl y -3 i
e = a
OHIH O HOR N 6 R W H
1 | ROk R mi g s R E " j:;
a L E &
A o E H M
o il
L o
i bt i
T LR s
5 <  FEEKH
ool ML ! R B | & BB K H
oot | s | 1R2% b | 4590 S a
Ui K EEROE| 0K RO | byl | HSOBL| B % = ®”
8/10 BIF| 4/10 BF| 1.0m | 165m2 | 10m - o~ K F3
ﬁ%ﬁﬁ)ﬂ%ﬁﬁ [0 [8/10MF|5/10F| 1.0m | 165m2| 10m L
: §N0MT|4/10 BF| - } 10m (I
N F 3.5% @
P — 15/10 JF| 5/10 UF
i%’gggﬁ% - 20/10 BT | 6/10 BT
VN F 19.3%
iég%ig T oo | o wE| - - - | 20.2%
sE-mE s [T [20no k| emomr| - - - 8.8%
% SRR R | | {200 BF |60 ME| - - - 7.8% — °) ez,
HE (o M Ik ||| [2000 MF| 610 F| - - T 2.8% IE hwe B
7?0"'[, U p— 2010 BF| 810 MF| - - -
T (30710 MUF| 8/10 BIE
% N at 7.0%
40/10 BIF | 8/10 MF
HE Wik b bR 50/10 BIF | 8/10 ¥
ft 7 ik 3.1%
N emo | ME T — 2010 | 610 MF| - - - 7.9% a6 0
Y T3 M B |D 0 [2010BF| /0 BF| - - - 2.1%
fﬁt T | o (200 w60 | - - - |17.6%
& 21 100%
§u I $i5 52 Hb Ik 20/10 BT | 7/10 BT
ﬁg (AR (L 2) o Pl b (3 42 C Rl SR BEHE ISR & HiPATH 3 .
J\
v
-57.0
5
) 5{{ 0.4
@] (@] (@]
< < 3
. rCofs B. B HEBEREORBRUBEZETCERAEOARERY
B ETm ol 38 i%ﬁ&ﬁ?ﬁ%(;lf 0 200 400 1'11202)000 2000 ﬂ!&%%ﬁ%btﬁtﬁ%t‘%éu (a%&%—{;m %snﬁ %T47%J
COMRE, K245 3 AERO/N\RHHHHER [ R ST R I |
2, 500D 1 EZRINERLIEEDTH D,
COMRIS, FE25F T HACBELLEEDTH D,




